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Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / 8 fRgHid 3 cgagrag # dia @
1. Functionalism / JehrIaTe, (Sherereifores)

2. Gestalt / EefeT

3. Connectionism / HATSTAdTG, (FelfFIiaeH)

4. Structuralism / TRTTATG

Correct Answer :-

« Connectionism / GATSIAAIG (Feliorciidea)

2) Vygotsky’s work serves as foundation for researchers in / Wﬁ?\qﬁ Ca-ae) ﬁ' !Zﬁiﬁo_d‘faﬁ 33
fere Ya &1 7 FRAT I

1. cognitive development / HATcAS T
2. pedagogical skills / T ierer

3. emotional intelligence / ATdATcHR E‘I’Eﬁ'

4, reflective practices /f%i?Frsﬂa gy

Correct Answer :-

« cognitive development / TaATelIcH TaehTH

3) Which of the following is the most appropriate approach for conceptual learning?/ Ffaf@a & @ duRe 30w & v g
39gFd TfRCHIOT AT 87

1. Deep learning approach / T8 G{WTH m

2. Surface learning approach / qg W g@w

3. Strategic learning approach/ W Giﬁl'm:[ m

4. Memory based learning approach/ ﬂﬁ GﬂﬂTﬁa GﬁW m

Correct Answer :-

« Deep learning approach / Tg - SfRTH ‘e’f@?ﬁw

4) On what is based the need for teaching philosophy of education? / fI&TT & fr&Tor gefaemey & 3TaeTFar Fa W
ek 82

1. All pupils are not alike /mﬁ sy e SO Flﬁ m|
2. Different systems of education found in different countries / 3TeTdT-3TeTdT AT H 3TeTaT-37eTeT freqor IR a@' ST %l

3. Different philosophies expressed different points of view on every aspect of education /%@Ff eTRmEST o fRew & g Yge] W
3TTIT-379T TISeCHIT e fhT|

4, Different ways of teaching—learning/fﬁ'm—m & [JfdT |

Correct Answer :-



- Different philosophies expressed different points of view on every aspect of education / AfPeeT goiarenedt o 6T & &Y Uge] W
3TCTIT-379T TISCHIT e fhT|

5) OCD does not affect which of the following cognitive constructions?/
D PR Faecas @A & F FY pRa ad@ s @2
1. Believes about inflated responsibility/ 3faRed 3mer&ica & gfa faara
2. Underestimation of personal ability/ STTFcaTcd &THT I T 3Thell

3. Intolerance of uncertainty / sfafeaaar $r mml?ﬁ

4. Control of thoughts/ TaaRT X fH=r=oT

Correct Answer :-

« Control of thoughts/ TdaRT WX fH==oT

6) Emotional development is partof . / HIdellcA® fasra FRTATE
1. Motor development / ThaTcHeh (HIeX) faerar

2. Cognitive development / HATAICHS Tahre

3. Psychosocial development / FAATATISTh faehra

4. Sensory development / TaeT (TaT) faera

Correct Answer :-

« Psychosocial development / FITHTHTToTh [aehi T

7) A child has been bullied in the bus every day on the way to school. Now, when he hears the sound of any bus approaching, he begins to
panic. What principle of learning explains this behaviour? / T& s HI Fhel I EU & AT dor fFar Srar @1 3, 5w st gg R
TH & U A A HATH AT ¢, A I¢ Ta oo ¢ HIA F FlT 71 R 39 sFaER Y SAEAT FAT 872

1. Reinforcement / gﬂéﬂ?-r

2. Punishment / &8

3. Stimulus generalisation / 3G&Tdeh HTHTATHIOT
4, Stimulus discrimination / m CEEER]

Correct Answer :-

- Stimulus generalisation / 3G9 HTHTEATHIOT

8) A child is motivated to jump from the first floor window to the ground because it gives her a thrill. What motivation theory best
describes this kind of motivation? / U& STT Ygell Ao m g sl | ;\ﬂﬁ' ¥ v 9T g %, FhIfF I8 39 QAT
&ar ¥ FE TR F Won Rgyia §9 YER i ROT FT qEX HTOT U I §?

1. Arousal theory / WegIdsT flguid (3RT3oTer LINY)
2. Incentive theory / HIcHTgeT ﬁﬁﬁlﬂ?l'

3. Drive theory / 318 @a’fﬂ?f

4. Instinct theory / aﬁr ewnia

Correct Answer :-

« Arousal theory / Segiasl fAgHd (3RBTa 2ARY)

9) Which of the following sentence is TRUE in the context of guidance and counselling in school?/ AT @a & & =l @1 T, el
# Avtgee AR R & weet 7 w7 2

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / BIZATGIT IT 3T H AY TFATIABN & IR H a0 o T
ot P Feg A8 A @ B



2. Counselling takes only one sitting to be effective. / TRTHLAGIAT THTAT gl & Tl shael 1 & Soa (FIfEaT) T &l

3. Helps in working through personal problems that may affect academics or relationships. / SITFAITT TATIAIN F ATEIH & FIHA T H
Aeg FaT ¢ St fenfaer ar Reat & wwnfdd & @ g

4. Students get counselling only because there is a counselor in school. / BTAT FT Hdel AT ALY Ferar § FifF ﬁa@a’a )
RIALSEIAT B

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. / ST TFATATIT & ATCIH T FHIH Fled H
Acg AT & o femtaar ar Reat & wenfdd X @ g

10) Which of the following provides excellent resources to explore? / fFAfaf@a & @ &l T gar Fa=a (THFATAR F=1) & AT
3cFSC HHUA YaTT Fem 82

1. LCD projector / TeIEEr Hroteex

2. Internet / elaT

3. Interactive smart board / SeX[Fed THAE IS
4. Language Lab / ol9aeT o

Correct Answer :-

« Internet / SeIeic

11) Which memory is connected with episodes and events? / T 3ﬁT HeAT3 & ATy Sl @ Fﬂ:ﬁ %?f 31?& %?
1. Long-term / &reafer

2. Episodic / WA T (TTAf3+h)

3. Semantic / 31 THIA (HATeeh)

4. Short-term / 3EUTATEY

Correct Answer :-

« Episodic / m@iﬁ (tlﬁ@l%ﬁ)

12) The type of personality called ‘Asthenic’ was introduced by / 'FAf®" AAF AfFdea fFasd ganr JEIT frar arm om
1. Freud / 1IS

2. Sheldon / el

3. Kretschmer / $heTFR

4, Jung / ?EI;JT

Correct Answer :-

« Kretschmer / $hFR

13) The 3 primary laws of Thorndike’s theory are: / UTei3IS®H & ﬁﬁ}ﬂa’ % 3 yrufaw Aaw §

1. law of readiness, law of exercise, law of effect / TcIXAT &1 T, 3791 &1 e, w9 &1 [ae

2. law of intensity, law of analogy, law of assimilation / daar &1 [, 9reeT &1 FIH, FcAAraaoT F1 Hue
3. law of action, law of experience, law of result / FRT FT e, 3-1?:[3-13 FT FIH, IR FT FIH

4. law of use, law of practice, law of disuse / AN T ﬁPIFI', JEAH &1 ﬁ'q?:l', HﬂW?T &1 gH

Correct Answer :-

« law of readiness, law of exercise, law of effect / TcIXAT ahl e, 3 & @9, g &1 [ae

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / ﬁﬁ@anﬁmqﬂmsﬂzﬁ (Wﬂ"ﬁ?}l@-z) HA AT %:



1. Above 400 items / 400 3TTScH ¥ 31T&F
2. Above 500 items / 500 3TScH & 3%
3. Below 500 items / 500 3TSCH & el

4. Below 300 items / 300 3TTScH ¥ HH

Correct Answer :-

« Above 500 items / 500 3TTSeH & 31T

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable actions that first occurred by chance? / Rarer $ir

WASICHS MAS HIEYT (HAd T 3rgeyr) Y fFy 3U3ETyT & a9 Heceas HF1aT F SEUd § S gge
IR FINT A g A7

1. Primary circular reactions / grafAs a:rﬁ'&r Hﬂﬁﬂ_qm
2. Secondary circular reactions / ot a:rﬁ'zr Hﬂﬁ?ﬂw
3. Use of reflexes / Hgol RT3t &1 9eT

4. Mental combinations / HTATHS HTFHHOT

Correct Answer :-

« Primary circular reactions / ITI A& ajh'q ﬁw

16) What have the children developed when they are aware of their own mental processes? /

X 9 A 7T Refd R § I9 a8 Juel AEE afvaet & e d §2
1. Metalinguistic abilities / 3TAHTIS &THATY (FTTolddiieeh TIfeIeT)

2. Metacognition / 3TTTATT (HCThII=iTNeA)

3. Meta-awareness / 3T (HET-3AIAH)

4. Metamorphosis / STATedROT (HCTATGAH)

Correct Answer :-

« Metacognition / 3T ATl (ﬁaﬁ?ﬁ‘fﬂﬁ)

17) What is the smallest unit in the writing system?/ 9@ JUITell & IV BIET SHE FAT &2
1. Nouns / &aT

2. Verbs / fomam

3. Phonemes / TaTAH (Wlei)

4. Graphemes / afoTe (ITHey)

Correct Answer :-

« Graphemes / IOt (IMha)

18) What cognitive principle does a child possess when she understands that the amount of clay in a 2cm ball remains the same whether
the ball is flattened or made into a stick? / Ueh &<l il T AACHS m gIed & ofdT %, old dg 3'@' W #
aTH Qa1 § B 2 A gk v A A R (F) A AW GHT Et § T A F gver FAw Se a9
o3 F T H e ATT?

1. Conservation / HX&TOT

2. Volume / 3TIdeT

3. Hypothesis / gReedsr

4. Trreversibility / m



Correct Answer :-

« Conservation / TI&TOT

19) What are the characteristics of scientific inquiry?/ 3=fe/ Srar v fFtward Far gt &

1. All of the above/ 3TRTFT THT

2. Learner engages in scientifically oriented questions only./ fRI&rff d=fareh & & Shaet 3eHE geal H Heleel g1 gl
3. Learner gives priority to evidence only. / RAemeft shaer @reT A ARG g’l

4. Learner formulates explanation from evidence only./ ﬁ[&-ﬂ%ﬁm 1&g @ W@W aﬂﬂ wdl %|

Correct Answer :-

« All of the above/ 390 Ty

20) Children who come from homes with good parent- child relationships tend to be /O R # Aa-Rar it gt #+7
HeE 3ToT g § At a= A Bl

1. Intolerant of others / W F Qﬁ 3‘“?%'501

2. Impulsive / 3T (sﬂl‘f?a'q’)

3. Posses weak intellectual control / W ma? IGEELS gred
4. Successful in social panicipation/ma; Hefier A A%

Correct Answer :-

« Successful in social participation/?l'l?:l'l%ﬁ? HENERT H TAhal

21) Kohler’s insightful learning proved that learning is ./ PG & Haefe IS m g & rfere
gl

1. an autonomous random activity / Teh EATIT m ﬁ@'

2. an event of trial an error / Yol 3R 3,'-,% T TH g

3. a new perception of the total situation / Hﬁr\U‘r Tufa &r & a_ﬁs'?' 3'1?;3{\%

4. a connection between stimulus and response / BRI 3'ﬁT m F 9T W

Correct Answer :-

« anew perception of the total situation / '\q'q;Uﬁ' Tufa &r & Hé' 34?!3{\%

22) vygotsky places considerably more emphasis on factors contributing to cognitive development./ ClEQi:Ca i)
FRF W qga IoF AR Rar § S AT Rww # deem W= )

1. Personal / eaf&derd

2. Social / ATHATSISR

3. Emotional/ $TdaITcHS

4. Cognitive/ HATATCHS

Correct Answer :-

« Social / GrATTSIS

23) According to Piaget, what method of processing information helps in the creation of schemas? Arpic ik TR, HdeIT

gfrartor 1 wla-d A safFafa e (o) F @[ar F #eg w9 82
L. Questioning / S TS (El'a'?lﬁ_ﬂ



2. Motivation / TSRO (FIfeaereT)
3. Deliberation / FaamX faarel (3farfarerT)
4. Accommodation / THSTeT (THIFAISLAT)

Correct Answer :-

« Accommodation / HHSTeT (UHIFAISLI)

24) Maslow’s five-stage model is in the shape of a /| ATFAY F YIT-37aFAT AlSA TH
1. Pyramid / fRR1fas

2. Square / @

3. Rectangle / 31mad
4. Circle / g

Correct Answer :-

« Pyramid / fRifas

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed to his: / 3ifpd Qﬁ&ﬂ' TR BT %

3R 3U= 3ifaH 3P a # TP gl STl 21 3P ford TP 0 FRUI B! TSR SEIAT &1 bl 8-
1. Lack of parental involvement / 'H'IHT—ﬁHTa?'HE'ﬂTﬁIHT hl IHTT
2. Poor reading comprehension / HE IS Y TR

3. Lack of self-esteem / 3TTcH-HFHTA I FAT
4. Dependence on others / gﬂq ] L°03 ﬁﬂ-ﬁ’?ﬂ

Correct Answer :-

« Dependence on others / gﬂ? L°C§ ﬁfﬂ-h?ﬂ

26) According to the theory, men and women are different and unchangeable due to their intrinsic differences between the sexes. /

_ Toeuia & Irefar, 7ut 3 Afgansit & foet & e srafe 3aw & sror sreer ik saiadeia €
1. Social constructionism / ATATTSIS f#ATOTETE (FRre Shegaerfasa)

2. Intersectionality / eI (SeTHFRATIE)

3. Gender Essentialism / fofaT 3tferararar

4. Gender performativity / foiaT sigeieT

Correct Answer :-

« Gender Essentialism / foI9 EIGEIRGH

27) The learning style that is greatly associated with activity is: / IIfafafer & @ jd IS g Fr et &
1. Visual / €T

2. Verbal / Alf@

3. Kinesthetic / ®TS1¢AfeH

4, Auditory / 0T

Correct Answer :-

« Kinesthetic / FTs1EAfeH

28) Which of the following is not true about constructive teaching approaches? Frafafeada HF ITIATHSD Rrequr efpwio &
TN # g e 82



1. It allows the teacher to focus on important and relevant information. / Jg fﬂ&TEF ED) H@'c_cl'ctl'\uﬁ' 3'ﬂT ';rmﬁla? SRR 9 &ATT éﬁfa(-r FIed T
A G

2. Students learn to value the opinions of each other. / &1 Uch QEHQ & HA Cal Hgcd a?IT '\’:h'@?f%'l

3. It helps to customize the curriculum to each student. / ZI'E»'ETF?EI'EF@H aﬂ'maﬂ'@ 5| 3:31?01'{?!? T H Heg ldl %’I
4, Discussions on the thoughts and ideas of a student are used. / Uch &I & 3‘ﬁT o T Wﬂmmmm%l

Correct Answer :-

« It helps to customize the curriculum to each student. / WWW@'WW@ 5 %34?1341? IoTTol H HASE hdl %’l

29) Erikson, a follower of Freud'’s synthesized both Freud’s and his own theories to create stages of human development,

which span from birth to death. / m%mmﬁ,maﬁ?mma;mﬁmm%
RT3 Ht g9 F forg wxaAa fpan, < 50 F gog 9@ gt 81

1. Ethological / 2l Totehel

2. Epistemological / JTeTHHTERT
3. Psychosocial / AT ol

4, Conventional/ YIFIRTITT

Correct Answer :-

« Psychosocial / AATAT SR

30) children should start developing cognitive abilities before they can experience / gl B BT MJHT P I94 9 'q?ﬁ,
TIATHS sl B fRAHRa &1 = HX 1 Afgu

1. Fear / ST

2. Embarrassment / 2181
3. Anger / T80T
4, Disgust / qgom

Correct Answer :-

« Embarrassment / 15T

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:
Obsessions to detail may be treated as a compul-- disorder.

1. -sorily

2. -sively

3. -sive

4. -sion

Correct Answer :-

2) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.



According to the writer, what are we not good at?
1. Identification of the problem

2. Solution of problems

3. Understanding solutions

4. Academic disciplines

Correct Answer :-

« Identification of the problem

3) Read the following passage carefully and answer the question that follows:

We all are familiar with the saying ‘Health is Wealth’. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They also boost metabolism. Games and sports
burn excessive and unnecessary increase the circulation of blood. They calories .They also improve our respiratory and digestive systems. When
we play games various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body. Mild
exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football and
lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What does the writer advocate in the passage?
1. Importance of outdoor games

2. Importance of academics

3. Importance of healthy mind

4. Importance of games and sports

Correct Answer :-

« Importance of games and sports

4) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth'. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They increase the circulation of blood. They
also boost metabolism. Games and sports burn excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body.
Mild exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What does the writer mean by 'They also boost metabolism’?
1. Organic processes for maintaining our health is improved.

2. Mental health is improved.

3. Academic performance is improved.

4. Discipline in life is improved.

Correct Answer :-

« Organic processes for maintaining our health is improved.

5) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth'. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They increase the circulation of blood. They
also boost metabolism. Games and sports burn excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body.
Mild exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football



and lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What is the unintended consequence of over emphasis on academics?
1. We get hardly any time for our family.

2. We get hardly any time for our hobbies.

3. We get hardly any time for games and sports.

4. We get hardly any time for doing other activities.

Correct Answer :-
* We get hardly any time for games and sports.

6) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth'. Academics serve the purpose of nourishing the mind. But we must remember that ‘a
healthy mind resides in a healthy body’. One can develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic. They increase the circulation of blood. They
also boost metabolism. Games and sports burn excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping, swimming and other games tone up the body.
Mild exercises invigorate our minds and bodies and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and colleges that we hardly get any opportunity to do any
physical work.

What happens on an involuntary basis when we play games?
1. Our health improves automatically

2. We grow strong automatically

3. Various exercises are performed automatically

4. Our marks improve automatically

Correct Answer :-
« Various exercises are performed automatically

7) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

What is important to be articulated?

1. To fill up gaps in understanding

2. To acquire skills in understanding

3. To prevent a problem in the first place

4. To imagine the in advance

Correct Answer :-

« To fill up gaps in understanding

8) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this



gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

What is the second step in the search for solution?

1. Understanding the shape, size and consequences of the problem
2. Understanding how effectively one can find a solution

3. Understanding alternative solutions to the problem

4. Understanding effective and speedy resolution of the problem

Correct Answer :-
« Understanding the shape, size and consequences of the problem

9) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the identification of problems and the search for solutions
to those problems. Many of us are good at working out solutions, once we are given a problem, but what about the necessary first step, that of
actually figuring out what the problem is? In science and in all academic disciplines, knowledge grows because we see gaps in understanding
that we seek to fill. Seeing the gap, therefore, becomes an important initiator of this process. And then we need to understand the nature of this
gap — what exactly is its shape and size? What are its consequences? The ability to see a gap, to describe it in a way that allows us not only to
imagine what it looks like but what it means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is worth
cultivating.

What does the writer advocate in the passage?
1. Acquisition of skills

2. To fill up gaps in understanding

3. Importance of understanding

4. Understanding consequences

Correct Answer :-
« To fill up gaps in understanding

10) Which of the following options best combines the following sentences?

You should control weight. You should stop thinking about being healthy.
1. You should control weight but you should stop thinking about being healthy.
2. You should control weight and you should stop thinking about being healthy.
3. You should control weight or you should stop thinking about being healthy.

4. You should control weight so you should stop thinking about being healthy.

Correct Answer :-

« You should control weight or you should stop thinking about being healthy.

11) Identify the most appropriate indirect speech statement for the given sentence:
The clerk said, “I am here to settle accounts today.”

1. The clerk said that he is here to settle accounts the following day.

2. The clerk said that I am here to settle accounts the following day.

3. The clerk said to settle accounts this day.

4. The clerk remarked that he was there to settle accounts that day.

Correct Answer :-
« The clerk remarked that he was there to settle accounts that day.

12) Read the sentence carefully and choose the option that has an error in it:



When the soldier returned home, his wife welcomed him with opened arms.
1. When the soldier

2. returned home,

3. with opened arms.

4. his wife welcomed him

Correct Answer :-
« with opened arms.

13) Fill in the blank with the correct option in the given sentence:

Action will be taken against those who --appropriate funds.
1. dis-

2.in-

3. mis-

4. un-

Correct Answer :-

14) Choose the right tag:

Let's plan a picnic, ?
1. shan't we

2. shall we

3. won't we

4. don't we

Correct Answer :-
« shall we

15) Choose the option that substitutes the given phrase appropriately.

The gradual recovery from illness
1. Emancipation

2. Connoisseur

3. Convalescence

4. Cosmopolitan

Correct Answer :-

« Convalescence

16) Rewrite the following changing the passive sentence to active.

Mistakes were made by them.
1. They had mistakes.

2. They made mistakes.

3. They are making mistakes.

4. They make mistakes.



Correct Answer :-

« They made mistakes.

17) Choose the appropriate antonym for the highlighted word in the given sentence.

The burglar moves gingerly so as to avoid making a sound or being detected.
1. rashly

2. charily

3. stubbornly

4. warily

Correct Answer :-

o rashly

18) Choose the appropriate prepositions for the given sentence:

Break this chocolate pieces and share it all the children.
1. to... with
2. off... from

3. into.. between

4. into... among

Correct Answer :-
« into... among

19) Choose the appropriate synonym for the highlighted word in the given sentence.

The demand for computer-controlled robots is rapidly increasing.
1. price

2. appeal

3. right

4. offer

Correct Answer :-

* appeal

20) Choose the appropriate conjunction for the given sentence.

You have to go down this way reach the CEO’s office.

1. as
2. unless
3. although

4. in order to

Correct Answer :-

e in order to

21) Choose the appropriate option that rewrites the given sentence in its active voice.



Sarah was bitten by the cat.

1. Sarah biting the cat.

2. Sarah was being bitten by the cat.
3. The cat was bitten by Sarah.

4. The cat bit Sarah.

Correct Answer :-

« The cat bit Sarah.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:

you ever how the people of the Harappan civilization ?

1. Do... wonder... is looking
2. Have... wondered... looked
3. Will... wondering... looked

4. Did... wonder... are looking

Correct Answer :-
« Have... wondered... looked

23) Choose the appropriate tense to fill in the blank in the given sentence:

We on the new product launch for weeks when management decided to shelve the project.
1. has worked

2. has been working

3. had worked

4. had been working

Correct Answer :-

« had been working

24) Choose the most suitable pronouns for the given sentence:
____are the new trousers which ___unclegotfor .

1. These ... my ... we

2. Those ... my ... me

3.1t..you're ... us

4. This ... your ... me

Correct Answer :-

e Those .. my.. me

25) Choose appropriate articles for the given sentence:

Passme______ newspaper. I wanttoread ______ article about the kidnapping.
1. the.... the

2. no article required... the

3.an...a

4. the... no article required

Correct Answer :-

o the.... the



26) Choose an appropriate article for the given sentence:

apples are grown in Jammu and Kashmir.

1. An
2. No article
3.A

4. The

Correct Answer :-
« No article

27) Choose an appropriate determiner for the given sentence:

The country has water resources like dams and lakes that water the crop all year round.
1. many
2. afew
3. alittle

4. least

Correct Answer :-

28) Choose an appropriate modal for the given sentence:

She climb the neighbouring hill in twenty minutes when she was young.
1. can

2. must

3. could

4. does

Correct Answer :-

« could

29) Choose the option that best explains the highlighted expression:
Rajesh finally made it. He's an excellent lawyer.

1. succeeded

2. struggled

3. aimed high

4. prospered

Correct Answer :-

* succeeded

30) Choose the right tag:

Sita didn’t do her homework last Monday, ?
1. did she
2. would she

3. does she



4. can she

Correct Answer :-

o did she
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Correct Answer :-

24) Yrde A IRAGY FEE! Fher 9 THRAT §8?
1.9 1936 &.

2.9 1942 §.

3.@ 1920 §.

4. 91 1947 3.

Correct Answer :-

« T 1936 §.

25) Fia e & ¥ fay #1 3 7 §2

1. faFar

2. FRF-FR=or

3.

4. 3THER

Correct Answer :-

« afRF-fRor

26) feT ¥ wew 3AF = o A wEAr Fw o F ¥
1. 3ARET

2.

3. R

4, FEATCT

Correct Answer :-



27) yftee & aewd ¥ -
1. dr@er

2. AT T A

3. 31T

4. TCh TASg-a&] 1 Arg el &

Correct Answer :-

28) fawafaf@a & @ Fia-a1 qe7 WU THF * weok # W At 2
1. 38 geull &1 Shda auie forar arr &

2. 98 T fRg-FeT gl

3. 9% Us g T8 9y §

4. g 3ogel TgAT arT I B

Correct Answer :-

« HH geut &1 Siida auier R g

29) farafaf@a # ¥ il oRaeg i FeusR 7@ &2
1. 9 AT s

2. SR TG

3. FEJARI0T Aty

4, FTAFSIT HET

Correct Answer :-

30) Pe=ifaf@a # @ Fi9-W snRFeiT e @ amar =3 ¥
1. ST FreT

2. A T

3. {fcegerd e

4, gy Frea

Correct Answer :-

31) frafaf@a & & frw RgEe F s A Qe Y a8t a7mw g2
1. goT SEIG gfaadr

2. TrEUR AT JERT

3. THTeg Yol

4. gl HpeATT

Correct Answer :-

32) fe=faf@a # i @ seer ¥
TR, RN ATE T

g fu e aa Ru e, az w31 s
1. SIS 37elshR



2. AP PR
3. §OF HAFR

4. 3GAT 3ePR

Correct Answer :-

33) fFifaf@e & @ oml & v suged Teg-seT FET § -
1.3, euferst

2. AT, T

3. 5% A8, FYX

4. AarSe, Az =g

Correct Answer :-

34) fara aat § @ Fia-ar Ruends awT 32

1. T §H @ @T?

2. TS §HS TIeAT W)

3. §H WET AST WAT|

4. §Fe T WA

Correct Answer :-

o A @i Tl

35) et F @ Fl9-a1 FUT GUEF F @ T aS 9F F U F 30T 872
1. 9% Y9, TAMER 99 & UGS H UoHh & aRT ol e g

2. 9% T, ASHedUHR ASTIIHT & 987 H FTaHT & AT Fl gl
3.9 99, FUGH & AT U7 &7 § oo Jfard 785 8

4. 9% 99, HHR H QF 7 @ TR

Correct Answer :-

« I8 U9, HUGH & U qul &9 & orver dfoard 7@ g

36) faw F & Fla-a1 Ferdt et Fh & adf gaw ¥2

L. 3-hgTell Tearele

2. 7S FElN Heareled

3. AEART FEAT JTeTeleT

4, G FEAT ITearered

Correct Answer :-
o AT FEeA 3ot
37) faear & @ Sorag A frw FEEl F1 AET 9 UF 9y 8?7
198 & T
2.
3. AR & e
4. ¢t arelr faerar

Correct Answer :-



38) foet & ¥ Fi-H RAvar 3 R voE A F FAeut F ad Res osd §2
1. forshifasT

2. GiEhics ded

3. anfere g

4. Tareiifder fRider

Correct Answer :-

. ol fRiae

39) fe=faf@a uFaat # #ia @ o §?
st giowa R gg,7e as wRaw a5 |
3 H[UE W3, gef A gor qA Feall
1. GRS &g

2. M oog

3. 3edlell Beg,

4. T Bog

Correct Answer :-

. ARSI TG

40) WgrES WM FT FeiF AW AT § -
1. Sifeqel
2. AT
3. s

4. Il

Correct Answer :-

41) TFHd g9 F WUEE T AFT F ¥ P TR F 99 & RAET 51 Fhar 2
1. TASERIOT HFT g7

2. g 9
3. gea a1 Risprgd deelh o
4, R I3

Correct Answer :-

42) STt F F& W@A F g F1 AT B Reyia & adta @ 32

1. SAfFeTd Rewiar &1 fagwia
2. foramelierar &1 fageia
3. §H=ag & feyid

4. egYoT HT FReia
Correct Answer :-

- forarelierar &1 fguia



43) IAREAY F T Pl 4?7
1. ®ER

2. AcEIgATT

3. ARSI

4. TET

Correct Answer :-

44) '‘ImE AT e av Reent # § s seeor ¥ -
1. 3R gef

2. %ad g FIFET & v

3. shael 2T AT &

4. TRI-HT AIHN FH

Correct Answer :-

o Had TR HHA &

45) 'JeX & ge dar Feray F o -
1. faQrely g

2. fayr 7 a1 &)

3. gl & Hgell|

4. 3IHIT TR 8 T TgeT|

Correct Answer :-

46) gifAe, gHEe 1 5T FeE) FT IH 82
198 &

2. g dRar

3. FHa

4. a8

Correct Answer :-

47) 38% YAF WOT ¥ 16 AFC @t §1 3d F g gt 3an| - 3WFT FAvaw fFw oo # 872
1. < B

2. 9y aw B

3. el B

4. AEH Bo

Correct Answer :-

@S Teg

48) wflgy Form-ey I=y ‘TR dvorae A aEr R QY W@ T S A aET F dwE FT §2
1. TMperary

2. facaaary

3. gt



4. ATHATCTH

Correct Answer :-

49) ‘v uTe A F M | FaH AT W 3ifer o7y 01

IRY 3T ag grel Y | Al 3T v A @AY 117 - 57 R F AGWH FiT AR AT §7?
1. HEN

2. faegmafa

3. 3R gE

4, IRGATT

Correct Answer :-

o 3ER T

<}

50) 'wgyor F FAEAT FE AR F1 Adw §2
1. dfas

2. 3

3. GHEA gUl

4, grATo®

Correct Answer :-

51) fagut 1 FEar frae A= ST §72
1. geFaTEr
2. i
3. BT

4, ToR9=A

Correct Answer :-

52) wér RFeq Fam-

0 gfte Fa arelt afea 21 Shtaer & Rfdy w2l A goa svqa Fer gl F1 F9
1. FouaT ded

2. 3% dca

3. 9ef e

4. AT TFed

Correct Answer :-

53) R afed Aey &1 gafda vd G945 gEanER A Fg1 oar 82
1. Reznforara @

2. gIFid Fordr forer

3. o1 Y AT

4, TIAI TG

Correct Answer :-



54) QR smft BT T AT F SN Raw F QAw -
L. 3T B

2. g B

3. gt &l

4. fafarse g1

Correct Answer :-

- et 21

55) frafaf@a ufFadal # Fia-ar sesr §72
5 OR #AgT & IeaT @ AN,

39 OR A & AT WA

1. QY 3R

2. JASF 3TIHR

3. §9F ITeIhR

4, 39T TAFR

Correct Answer :-

56)Hm#mammﬂﬁélwﬁmmmmm#mmﬁ%lmwmmmmmmmmmm ar e fRafga
A ST R e @ SUTEe F ¥, R T 6 39 e RoTe aw # R w8 e Ff ST W@ & AT g7 I39F e F TRE RAew aw

T3 FA §, IEIA ST FAW A AT FHT ¢ A o1, a°w s o W@ ww v & P wewr e w3 § 30T Aewaw wHea §) O et & Shaw w7

3E8RT FA FIAT TR §, by wferser A g€ ¥ Mrm#ﬁﬁﬂ:ﬁﬂmaﬂvﬂ'ﬁlma—nm T FART AR e Y A B R ¥ e o

& B & FiT & 3R Far T AT wART TR e B, Wa’smaﬁmmaﬂmlﬂﬁaﬁmm% gl A shaer A fta wa g7

Asaea F1 aR=a R g1

Iad TR=SE B UgHR -4 f T wy @1 I« fafdw:

TIAR H 47 & genieal B o afa gidt 82

1.§ Wellsh AT I F gl

2. 3oTehT gfaser R A ST # ALY I Sl

3. 31T 3UTELT Bl B

4, 3o TARS AT S &
Correct Answer :-
o 3T ufaser 3R AT ST F AGT I§ AT

57) 39 TOR # 671 €1 WG F© A §1 47 F GG o G5 FA 9@ A N &@ A ¥ FAR F 3w 3o SR IR 3@E0r §o-ge F AW W@, o
AT R 8 e R e g STEe aa ¥, e R g I e RoTe aw A dar w Mqﬁaﬂmmr@#*ﬁvawmaﬁa?
TRF g T @3 A €, I T9AT FAR A JUA §AT ¢ Rarn @, afew s Fo W Fe v & Sedr we e s @ aftw qeaaw
Az &1 e a9 & Shae &1 3q8e7 Faor Tawr TR §, mﬁwﬁwmsé%lﬁﬁﬁmm#aﬁﬁnﬁ#wmaﬂﬁﬁmﬁm 9T
FAMET 3R WeE Y AT DY B A T aF 7E T FhT ¥ 3wl A0 AT wHTS @l gy Wa’gw&ﬁmmﬂﬁmlﬁ#
T A g T ¥, Bl 3 S B 3fia w1 wow Aqsaes # aRew R §)

dFd aR=de F TRt A9 Re 70w #1 3o A
9 ey #1 3R ofiiE Far @ wFar 82

1. SaeT &1 o8

2. 9 & A

3. 39er fAT

4, T ST HgT

Correct Answer :-

o Sidel & o8



58) 9 HAR # U1 & 69 FT ¢ §1 U N I o qgA HA 91E1 A gt AW A ¥ HHR F ${erH o SRAT N AT ¢g-¢g AW A W, A

]

m%ﬁaﬁmﬁ?mmmmﬁ,ﬁﬂ#ﬁtgﬂﬂﬁﬁ@ﬁmﬁﬁhﬂzﬁ&ﬁmﬁqﬁaﬂmmwﬁ#ﬁmwﬁm*
RF g T @3 A §, I T9AT FAW A IO §AT AT Ramn a1, afew s 7o W w9 v & Sed Awa e 3 @ aflw geaaw
wAEd §1 O ARl & e 1 3587 Fad 94T TR §, I ufaser FA %|arﬁwr3ﬁw#ﬁﬁﬂﬁﬁwa$aﬁ|3—aﬁa—am 9T
AT 3R WeE Y T B BN F T aF 78 B § T F 3R et q0) FeTT TS Tt e wa‘sma?rmmmaﬁmlﬁﬁ
T8 g o ¥, el e Shaer it aifia ava worw Apsaca @1 9= R 2

3Fd IR=de F TRt A e 7T maT w1 3o [P

TREdT F AR g4 AT I A J91 FAT A¢1 faaen ke 2
1. Sfraet ador 7

2. 59 A H

3. wfaser & 7

4. 3ETE0T Gaal |

Correct Answer :-

o I HAW H

59) 3¥ WK # o T4 FO ¢ §1 o7 F QN A 95T FA e A gy a@ﬂé%lmmgﬁmmﬁvsﬁrm@-ﬁwmﬁﬁmeﬁ
IR R @Y ST 5 e g8 U FS § Bed R g e e o g F1 FIR T § PR FR aaen @S F [ e s @ F
TARS [Aeg T @3 A §, 3egid IUAT FAW A HTaT AT At faamm mmmwwmmammwm@mm
FRFA §1 o Aol & Sliad &1 3gded Faw suAn qeRan ¥, sahr ufaser w7 g8 ¥ it sraver F 5 Rl A qoT a% @l sl sew fa, wwEm
FATT 3R WAF B AT | Bt A AT aF A B 3 F & 3R e 0 AT TS @l aeT §, W ag S B SUrHAT AT A | weq F
T & g o €, Sl ave shaer it aiffia #a wo Aqsaca @1 aRew R 2

3udFd aR=dg F TRt A Re 7T mT #71 3ew P
‘oo Y @ ¥ FAT A §2

1. Faref Fefer|

2. T9T T AT FHAT

3. TARS edledT|

4. ASTea & v Shaer 3 =)

Correct Answer :-

o Taref St

60) 37 FER # oo & A9 Fo A ¥ 4 F GO A qGA FA o€l X a@ﬂé%lmmgﬁmmﬁvsﬁrmﬁ-ﬁzwmﬁﬁmeﬁ
AT Rk @ e R et g suTEe aa ¥, o T g e I Row aF A WK B § B S aaen @ F [ seE aw F
RF e qaE @8 FQ ¢, I IO FAR A A §AT ¢ Ramar mmmwwmmammwm@mm

TR §1 o Aol & e &1 3T Faw suan qeRan ¥, sahr ufaser w7 g8 ¥ it sraver F s Rl A qoT a% @l sl sew fa, wwEm
FART 3R el Y AT BN B A T aF A@ B § B AR Fer A0 AT FAR Tl AT ¥, W ag T B SEAT A Ag AT Hod A
T g I ¥, el 39 Sfae 1 affa S wHT Agsaed w1 aRew R ¥

ITY aRede # TgHT A BT T geT 7 3eaw AR

WOR # 79 vER F A @ qen @l 87

1. foe% ¥R ey s=v vy

2. FSegiay T@et & amr Hi|

3. g 3ual Shaet &Y Hepsaed & forw 3ndor & fam

4. gl Hegudd ue HAT|

Correct Answer :-

. fo=gler 3ruet Shae 1 #qsdea & faw sndor & feam



